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Operations on a binary Tree
main application come with special types of

b. tree ( with more restrictions on structure)
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Suppose each nodes stores an integer value

a find the sum of the values of nodes
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Binary season Tsu (BST )
BST is a binary tree sands that for any model not),
the values in its left subtree are smaller than the
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Main Operators other
- Search - re

- find Min
- Insert .

- find Max
- Delete .. - find Successor
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Insert operation in BST

If the value is already present in -BSI we return the

same tree.
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You're to find a node such that K is the largest
in its left subtree

keep following the parent pointers until you
find a node that is left child of its parent
-C

return present

Suppose we're the parent pointer
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BST - DELETE Delete
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Each of the operations ah BST T
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Can we somehow ensure the height of a BST

• be oltgn ?

the idea :→ Modify the insert a delete functions attach

a way that the height of the tree at any time does
not

grow too much 8 stays not far away fromthe

best possible height (logarithm in the size otthetseo)
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lheepdg the height of atseo with n nodes limited

by an Olbgn) value is commonly known

height - balancing.
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Insertion l Deletion
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→ Some additional work it required
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Insertion 'f→ follow the procedure similar to BST.
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Let 's abstract this .

Consider a situation whose balance factor of -2 is detected
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Deletion in Avb Trees

- fowllow deletion in BSA

- Restore the balance

→ rotations

1- at every node on
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Sorting based on ALL trees
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Sorting - BST f in-order traversals
dryLemans

I. non;;
AVL- soot creating AVL
-

in
-
order traversal

⇒ Olnhgn, tee



Binary Bees

Binary season Brees
-portionsJn Height- balanced Binary Seara Brees

( dub bee)
Redhead. Aost
Balanced

Binary
Season
trees


